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MDE/D-17

THEORY AND PRACTICE OF
COMMUNICATION

Paper-I

Time allowed : 3 hours] [Maximum marks : 80

Note : Attempt any one question from each unit-I-1V, Unit-V

is compulsory. All questions carry equal marks.

e : @WR-1GIVIS% 7 8 33 0F 997 90 5T, 30 0 597
Ffog | IR~V g &1 gt gt & o qu &

Unit-I (5%E-1)

1.  Discuss need and scope of communication in society. 16

I § GRS AT § 39 Hed 9T g9t HL 16

2. Define communication. Discuss types of barriers which affect

the process of communication. 16

HER & qw €1 39 Sl @ el S d9R afer &

gefee & 2 | 16
Unit-II (55-11)

3.  Define non-verbal communication. Discussits categories. 16

g dE H Ofew 31 3o ARl woaEt #1016

4. Writeanoteon E.E&Eow_ of communication. 16

R 3 el W & Ae /g 16
(3401 | , [P.T.O.



{2)

Unit-1H (SHE-111)

Define group. Discuss various types of groups and significance

of group communication in human life.

16

g 1 o %) aE % e ol ) et ) o A

se  §9g HER & "9 9ad |

Define mass communication. Discuss its characteristics.

16

16

FIEER H 9w | 3o Rdwanel @ o=et o &% 16

Unit-IV (§5§-1V)

Discuss Osgood’s model of communicatrion.

AR & FOR died W == a5

Discuss relational theory of communication.

HER & T § e | T #] |
Unit-V (3%8-V)

Write short notes on any four of the following :

() Four basic functions of communication
(i) Traditional mediaof Haryana
(i) Spiritual communication
(iv) Dance model

(v) - Elements of communication

3401

16

16

16
16

(3)

(vi) Evolution ofhuman beings

Frefefee § @ <l eR R dfra A g

() H9R & 91 99 FE|
(i) BRI & WRET ATH |
(i) e HER)

(Gv) s dted

(v) =R & 79|

(Vi) A [ |

13401
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Time allowed : 3 hours]

Note :

e :

MDE /D-17
WRITING SKILLS
Paper-II

[Maximum marks : 50

Attempt five questions selecting one question from each
unit. All questions carry equal marks.

& 5E € OF A97 g7 gU % Gig ge & Iav Ay
gt geit & ofF AT &

Unit-I (5F-1)

Columnist is very popular in readers. Discuss importance of
Columns of a newspaper with examples.

FER @ § W q@F g9 9GS 8| THER W B P

P TR YU IO Wi S S |

. . .According to a statement People are reading more feature now

adays. Why ? Comment on it.
HTH AT BT TgT S Bq &, # ¢ feuit ity

Unit-II (3513-11)

Explain various elements of radio scripts with examples.

W fepe 3 Al a@l W SeE gk ==t i)

What should a reporter keep in mind while writing for radio ?
Discuss with examples.

gw?%%ﬁ%ﬂﬁii%m
T AR ? IEXOT Gied U i |

13402 [Tumn over




(2)
Unit-111 (SFE-111)

Discuss in detail basics of television news script writing with
examples.

oo TER S T B oYy Rl WY ST aRd
R @ g sl

Discuss responsibilities of a bulletin editor in a Television news
channel.

TF FNER T § gARd §URE & IOREide WS
i | :

Unit-IV G&R-IV)

Discuss in detail various types of press releases and their
importance in public relations.
Yo Rdw 3 R s | 99 $0 Y SEes § I
e W R & T e |

Write a note on writing for television special programs.
Moo 3 Ry wdwd 3 R 3 dEW W @ Ae

Slicnd
Unit-V (5FE-V)
Write short notes any three of the following :
(a) Articlewriting
(b) BoocksReview

3402

(3)
(¢) Intro writing for News
(d) Letterswriting
(¢) Blogwriting
P & @ st iR AR e R
@) @@
(@ I&F T
(M TER 3 U egE aEd
@ W e
® aET|
3402
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MDE / D-17
INTRODUCTION TO MASS MEDIA
Paper-I1I

Time allowed : 3 hours] [Maximum marks : 80

Note :  Attempt five questions in all, selecting at least one

e :

1.

question from each unit. Unit V is compulsory. All
questions carry equal marks.

T $HE @ T @ F O 997 F T B0 §Y 7T 9
797 38 | gBE V o &1 @ g9 & s @ &

Unit-I (3%E-1)

How social reform movement brought the change in society in
special context with women?

A G Sidie B9 o 3 oRted ar 2, ol @ A
sty dest § wengd?

or At
Explain about technical development of printing from the beginning
with supporting examples.
TE q O $ qHH e $ 9§ @™ 3 ay awEmEd |
Unit-1I (-1

What is the role of press commissions in developing better
situations for press?

J9 & Re Je Rafrdt # Reke w0 § 59 ot &
g 27

3403 [Tumn over




(2)
or AYql
What was the role of the press at the time of emergency?
s Rafy & w7 9 99 1 w0 e &9
Unit-111 (3E-111)
3. How community radio help people in their development?
e A A e § FF @ e REm A E?
or Iy

What is FM and is it true that "It has way more listenership than
AIR"? Comment.

T TF T & AT I8 TG ¢ 6 CTH T & A AmEErn § we
A B? fewyel A )

Unit-1V (§FE-1V)
4. How reality shows changed the face of television worldwide?
3q fafrd r ¥ g ) A 2R @ 9ew w1 R @0
or JAYTT

How different is the viewership of public television from

commercial television?

aftrivgs &t iR ardsifes SHieM & % @ A 9 e
TRt 27

3403

(3)
“Unit-V (FE-V)

5.  Write short notes on any four:

el TR @ @g Ae fo

® AR
CIEANCIR

(i) Commercial Radio
aifrfsaes e

@) Official Press
e 99

(i) Vemnacular Journalism
TG AR

@(v) PTI
ELCIE

(v) Newsprint-

e

3403
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MDE /D-17
CURRENT AFFAIRS & MEDIA ISSUES
Paper-1V

Time allowed : 3 hours] [Maximum marks : 80

Note : Attempt five questions in all, selecting at least one

qe :

question from each Unit. Question No. 9 is compulsory.
All questions carry equal marks.

n&ﬂ%@@ﬂ«ﬁmﬁﬁ%%wﬂﬁﬁm%ﬁ
7 To 9 aifvard &1 & gt B o T &

Unit-I (SE-1)

‘What do you mean by national political parties? Explain the role
of national political parties in democracy.

TS (oFifae a0 § oY & g9s 8¢ dgay § TS
TR &ol AR 3 e |

What do you think that weak fundamental duties are not good
for health of Indian democracy? Explain with example.

71 o A ¥ B T i 3 A aeelt 4 g 36
oD @R 3 fu &% T8 R7 e aRkd s #7X

Unit-1I (35E-11)

Discuss the accountability and credibility of Media person in India,
with example.

- 9Ra ¥ MR Radt H TaeRd IR REaHigar & S aitq

@t H)

3404 ~ [Tumover



(2)

4. Write a critical note about code of ethics for working journalist
with example.

aolid) GRR $H AER GiRedl 91 JaTeeT 9iRd SeTed e
ford 1

Unit-I11 (3%1E-111)

5. Discuss the importance of sports story in print media journalism
of India.

IRd & B waiar § g9 FeM & 7o 3 == #])

6. 'What do youmean by features? Explain with example qualities
of a good feature.

PIeR | AT FT TR o7 T 37D HiaX B O H IS |
A |
Unit-TV (3FE-1V)
7.  Describe the photo journalism. Difference between photo feature
and photo journalism. .

B ErERer & Tt B B GET AR B iRl §
s FH |

8. Whatdo youmean by the Radio Station? Explain the radio studio
setup with example.

WA = § AT T TR S| VST TRA JToU H T
qfeq aren &7

3404

(3)
Unit-V (7-V)
Compulsory Question (v 5¢)
9. () SocialIssuesin Media

iy & i 9R
(i) Diversity of Media

Hifear &t B
(i) Business story

IR FEI
(v) Letterto Editor

TUEH & W O
(v) Writing Style

SieE K|
(vi) Portals

g

3404
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MDE / D-17
COMPUTERAPPLICATIONS
Paper-V
Time allowed : 3 hours] [Maximum marks : 50

Note :- Attemptfive questions in all selecting one question from

1. (
®
2. (@
(b)

each unit. All questions carry equal marks.

Unit-I
How is the data stored in optical storage devices? Illustrate
the difference between CD and DVD.
What are the characteristic features of fifth generation
computers? Explain.
What is operating system? Write a brief note on the evolution
of operating systems.
What do you understand by I/O devices? Discuss the
structure of optical mouse and mechanical mouse.

Unit-II

3. Whatdo youunderstand by a program? What is algorithm? What
is the difference between writing a program and writing an

algorithm? Discuss.
4. (a) What are the merits and demerits of low-level languages
over high-level languages? Discuss.
(b) Whatis the difference between a source program and object
namBE.w Discuss.

3405

[Tumover




(a)

®)

@)
(b)

@
(b)

@

(b)

®

(i)

()

3405

(2)

Unit-11I
Write a brief note on the bullet and numbering formatting
option.
What are the different layouts in Power-point? Write a note
on them.

What do you understand by footers and headers? Discuss.

What is the difference between tool bar, status bar and menu
bar? Discuss.

Unit-1V
Write a brief note on formatting of text in page-maker.

Discuss the steps to create the magazine page with muitiple
columns using QuarakXpress.

What is DTP? How is it different from word m.noowmmmzm@

Explain.

Write a brief note on important features of Adobe In-design.
Unit-V

What is the difference between Sequential access and Direct

Access storage devices?

What is mnemonics in assembly language?

What are the steps to convert text into table?

List the different ovmoum available under tool menu in MS-
Word.
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Time : Three Hours]

Total Pages : 2

MDE/D-17 6078-S

LITERATURE IN ENGLISH (1798-1914)
Course-IIT

[Maximum Marks : 80

Note : Attempt five questions in all. Besides Question No. 1,

3.

which is compulsory, choose one question from each of
the four units. Each question carries 16 marks.

Compulsory Question

Answer the following questions in about 100-150 words
each :

(i) What is the theme of "Ode on a Grecian Urn" ?

(i) Write a note on the pictorial quality of "Meeting at
Night."

(i) Comment on the ending of The Mill on the Floss.

(iv) Why does Madame Bovary commit suicide ?

UNIT-1

Attempt a critical appreciation of Wordsworth's poem,
"Daffodils".

Write a detailed note on the theme and structure of "To
Autumn".

6078-S/450/KD/1924 [PT.O.

UNIT-II

4. Critically examine Browning's "My Last Duchess" as a
dramatic monologue.
5. Discuss the elements of realism and fantasy in Oliver Twist,
showing how they have been mingled.
UNIT-II1
6. Write an essay on George Eliot's art of characterization with
special reference to her portrayal of children in The Mill on
the Floss.
7. Attempt a character sketch of Tess in Hardy's novel, Tess of
the d'Urbervilles.
UNIT-1V
8. Evaluate Bernard Shaw's play, Arms and the Man, as a
comedy of ideas.
9. Comment on the elements of social realism in Flaubert's
Madame Bovary.
6078-S/450/KD/1924 2
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MDE/D-17 6079-S

LITERATURE IN ENGLISH 1914-2000
Paper - IV

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Question No.1 is compulsory.
All questions carry equal marks.

Compulsory Question
1. Write answers in about 100-150 words on any four of the
following : (4x4=16)
(i)  What does Eliot mean in the final moments of the
poem when he writes, "These fragments I have shored
against my run"? (The Waste Land).
(i) Give a brief character sketch of Professor Ned Welch
as portrayed in Lucky Jim.
(iii) Explain the following with reference to the context :
Another church; matting, seats, and stone,
And little books; sprawlings of flowers, cut
For Sunday, brownish now; some brass and stuff
Up at the holy end; the small neat organ;
(iv) Explain the following with reference to the context :
'She said, "if you go slowly, you risk getting sunstroke.
But if you go too fast, you work up a sweat and then
catch a chill inside the church." She was right. There
was no way out.' (The Outsider)

6079-S/450/KD/1925 [PT.O.



(v)  Write a brief note on the symbol of the Marabar Caves.
(A Passage to India)

(vi) Draw a pen-portrait of Rosie. (The Guide)

(vi) What is the central idea of Ezekiel's poem
"Enterprise"?

(vii)) What is the symbolic significance of the diamonds in
Arther Miller's Death of a Salesman ?

Note : Attempt any four questions of the following :

2.

(16x4=64)

Why does Eliot choose to conclude this poem by discussing
the Hindu values of giving, compassion and self-control ?
According to the poem, what can we learn from these
values?

How does geography fit into the novel ? What cities,
regions, and countries come up ? What do they tend to be
associated with ? (Lucky Jim).

Larkin's poems often reveal moments of sensitivity which
lessen the disappointment and cynicism found in much of
his work. 'To what extent do you agree with this
statement ? Support your answer with suitable reference to
the poetry of Philip Larkin on your course.

Discuss the style of The Outsider. How does Meursault's
language correspond to the subjects he describes ? Does it
evolve or change as the novel goes on ? Does the
stripped-down prose of the novel's first half limit its
expressive power ?

6079-S/450/KD/1925 2

What part does sexuality play in the novel ? Consider
any differences of opinion about sexuality between
Fielding and Aziz and between Ronny and Adela. (A Passage
to India).

Justify the appropriateness of the title of the novel The Guide.

Full to the brim with Indianness, Nissim Ezekiel's "Night
of the Scorpion” captures a well-detached black and white
snapshot of Indian village life with all its superstitious
simplicity. Elaborate.

How does Willy's desperate quest for the American Dream
resemble a religious crusade ? (Death of a Salesman)

6079-S/450/KD/1925 3
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Time : Three Hours]

Total Pages : 2

CMDE/D-17 6630

LITERATURE IN ENGLISH (1550 - 1660)
(Part-I)
Course - I-Eng-511

[Maximum Marks : 80

Note : Besides Question No. 1, which is compulsory, a candidate

S.

shall choose one question from each of the four units,
attempting five questions in all.

Compulsory Question
(a) Critically examine the Sonnet, "Reason in faith then
are well served ........ "
(b) Last soliloquy in Doctor Faustus.
(¢) Role of Beelzebub in Paradise Lost Book I.
(d) Compare the characters of Malvolio and Viola.

UNIT-I
Discuss Astrophil and Stella as allegorical reading of love.

Critically examine the Sonnet, "Loving in Truth .......
UNIT-II
Write a critical essay on the nature of conflict in

Doctor Faustus.

"Doctor Faustus is the child of Renaissance." Comment.

6630/1,400/KD/1405 [PT.O.

UNIT-III
How does Milton use Satan's transformations to reveal
his character in Paradise Lost Book I.

Does Milton's grand style enhance or detract from the
power of his story ? Evaluate.

UNIT-1V
Critically examine Twelfth Night as a romantic comedy.

The comic journey in Shakespeare's plays is usually from
the darkness of ignorance to the light of self-knowledge.
Discuss this statement with reference to Twelfth Night.

6630/1,400/KD/1405 2
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CMDE/D-17 6631 3. The Rape of the Lock is a faithful picture of fashionable
LITERATURE IN ENGLISH (1660-1798) PART-1 London in eighteenth century. Comment upon it.
Paper : II/ENL-512 OR
Bring out mock epic elements in The Rape of the Lock. 16
Time : Three Hours] {Maximum Marks ; 80
UNIT-III
Note : Attempt five questions in all. Select one aucstion from each
unit. Question No. I is compulsory. Each question carries 4. Tlustrate your views on the theme of The Way of the World.
16 marks.

OR

Compulsory Question Consider the significance of proviso scene in The Way of the

16
1. Answer in about 150 words : World.

(a) Achitophel's character sketch. UNIT-1V

(b) Cave of Spleen. 8.  Write a critical note on the structure of The School for Scandal.

(c) Witty dialogues in The Way of the World. OR

(d) Snake in The School for Scandal. (4x4=16)
Examine critically The School for Scandal as a comedy of

manners. 16
UNIT-I

2. Comment on Absalom and Achitophel as a political satire.

OR

Discuss critically Dryden's art of characterization in Absalom
and Achitophel. 16

6631/1.400/KD/467 [P.T.O. 6631/1,400/KD/467 2



Roll No. oo, Total Pages : 2

CMDE/D-17 6632

LITERATURE IN ENGLISH (1798-1914) PART-I
Paper — IIT (ENL-513)

Time : Three Hours] [Maximum Marks : 80

Note : Besides Question No. 1, which is compulsory, choose one
question from each of the four units. Attempt five questions
in all. Each question carries 16 marks.

Compulsory Question

1. Answer the following questions in about 100-150 words each :

(a) In what way is the solitary reaper superior to the
nightingale ?

(b) Write a note on the concluding lines of “Ode on a Grecian
Urn”.

(¢) Comment on the character of Nancy in Oliver Twist.

(d) How does The Mill on the Floss end ?

UNIT-I

2. Write an essay on Wordsworth as a poet of nature and man,
giving illustrations from the poems prescribed.

3. Attempt a critical appreciation of “Daffodils”,

6632/1,400/KD/599 [P.T.O.

UNIT-II

4. What are the major themes of Keats's poems ? Elucidate and
illustrate.

5. Trace the development of thought in “Ode to a Nightingale”.

UNIT-III
6. Critically examine Oliver Twist as a novel about social evils.

7. Discuss the character of Oliver Twist.

UNIT-1V

8. Comment on the relationship between Tom and Maggie
Tulliver.

9.  Write a note on the theme of free will and determinism in The
Mill on the Floss.

6632/1,400/KD/599 2
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CMDE/D-17 6633

LITERATURE IN ENGLISH : 1914-2000 (PART-I)
Paper : IV

Time : Three Hours] [Maximum Marks : 80

Note : Besides Question No. 1, which is compulsory, attempt
one question from each of the four units I-IV, attempting
five questions in all. All questions carry equal marks.

Compulsory Question

1. Write the answers in 150 words. Attempt all.
(a) Discuss the role of prophet Tiresias in the Wasteland.

(b) What do Adela and Mrs. Moore hope to get out of their
visit to India in A Passage to India?

(¢) Imagery in the poem "Deceptions” by Larkin.
(d) Humor of Lucky Jim. (4x4=16)

UNIT-1

2. Why does Eliot choose to conclude The Wasteland by
discussing the Hindu values of giving, compassion, and self-
control? Elaborate. 16

OR

3. Write a detailed note on Eliot's portrayal of failed
relationships between men and women in The Wasteland.
16

6633/1,400/KD/623 [P.T.O.

UNIT-1I

4. What is Forster's primary critique of the British in India in
the novel A Passage to India? What does he appear to think

of the Empire in general? 16
OR
5. Critically examine Forster's treatment of female characters
in A Passage to India. 16
UNIT-1II
6. Discuss Philip Larkin as 2 Movement Poet. 16
OR
7.  Write the development of thought in the poem "Church
Going". 16
UNIT-1V
8. Discuss the theme of the novel Lucky Jim. 16
OR
9. How does Lucky Jim represent the social structure of 1950's?
Elaborate. 16
6633/1,400/KD/623 2
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CMDE/D-17 6634

STUDY OF A GENRE : FICTION (PART-D)
Course V / ENL-515
Opt. No. (i)

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Besides question No. 1, which
is compulsory, choose one question from each of the four
units. All questions carry equal marks.

Compulsory Question

1. Write short notes of about 100~150 words on the following :

(a) Forster’s views on the relation between people and plot
in a novel.

(b) Role of Mr. Bennet in Pride and Prejudice.
(c) Ending of the novel The Scarlet Letter.
(d) Stephen’s attitude to women.

UNIT-I

2. How does Forster differentiate between “Story” and “Plot” in
Aspects of the Novel ?

3. Write an extended note on Forster’s definition of a novel.

6634/1,200/KD/1774 [P.T.O.



6634/1,200/KD/1774

UNIT-II

Critically examine Jane Austen’s use of irony in Pride and
Prejudice.

Marriage is a constant pursuit in Austen’s comic world.
Discuss in the light of your reading of Pride and Prejudice.

UNIT-III

Comment on the theme of sin and salvation in The Scarlet
Letter.

Comment on Hawthorne’s narrative technique in The Scarlet
Letter.

UNIT-1IV

Write a detailed note on use of epiphany in A Portrait of the
Artist as a Young Man.

Comment on the structure of the novel A Portrait of the Artist
as a Young Man.

(3



Time : Three Hours]

Total Pages : 2

6342-S

MDQ/D-17

CRITICAL THEORY
Paper — VI

[Maximum Marks : 80

Note : Attempt any five questions in all. Besides Question No. 1,

which is compulsory. Select one question from each unit.
Each of the five questions carry 16 marks.

Compulsory Question

1. Attempt short notes on the following in about 100-150 words.
(a) Discuss 'charcter' in Poetics.
(b) Comment on Wordsworth's 'diction'
(c) Amold's view on Keats.
(d) Define the role of modern poet in continuing the
traditions, according to T.S Eliot.
UNIT-1
2.  What is Catharsis ? How does it work in the context of
tragedy ? What purpose does it serve ?
3. Evaluate the contribution of Bharatmuni to Indian Poetics.
6342-S/500/KD/1812 [PTO.

UNIT-II
Horace compares the changes that a language undergoes
with the changes that nature undergoes. Justify with reference
to Ars Poetica.

Write a critique of Wordworth's statement that "poetry is a
spontaneous overflow of powerful feelings."

UNIT-III
Discuss the merits and demerits of Shakespeare, according
to Johnson,

What does Amold mean by "poetry as a criticism of life"?

UNIT-IV
Virginia Woolf is quiet critical of certain novelists while
putting forth her ideas. Identify these novelists and assess
the reasons for her disapproval of them.
OR
Write a critical assessment of Saussure's views as expressed

in 'The Object of Study'.

6342-S/500/KD/1812 2
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MDQ/D-17 6344-S

INDIAN WRITING IN ENGLISH
Course-VIII

Time : Three Hours] [Maximum Marks : 80

Note : Besides question number 1, which is compulsory, a

candidate shall choose one question from each of four
units. Attempt five questions in all. All questions carry
equal mark.

Compulsory Question
Write short notes of about 150 words on the following :
(a) Radhakrishnan's defense of caste system.
(b) Describe the poem, "The Logic".
(c) Symbols of Geckos in Train to Pakistan.
(d) Justify the title Silence! The Court is in Session.

(4x4=16)
UNIT-1
Underline Aurobindo's Philosophy in Savitri with reference
to Book IV. 16
OR

Discuss Radhakrishnan's prose style with reference to
The Hindu View of Life.

6344-S/500/KD/1813 , [PTO.



UNIT-II
Write a critical note on the poetic devices in the poetry
of K. Das. 16
OR
Comment of feminist issues in Mahapatra's poetry.

UNIT-H1
Coolie is an epic of misery. Discuss. 16
OR
Examine the art of characterization in Singh's Train to
Pakistan.

UNIT-1IV
Analyze the structural design of Anita Desai's Voices in the
City. 16
OR

Discuss the treatment of dramatic devices employed in

Silence! The Court is in Session.

6344-S/500/KD/1813 2
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MDQ/D-17 6345-S
LINGUISTICS, STYLISTICS AND ELT
(English Language)
Course : IX
Opt. : (i)

Time : Three Hours] [Maximum Marks : 80

Note : Besides question no. 1, which is compulsory, a candidate
shall choose one question from each of the four units,
attempting five questions in all. Each of the five questions
carries 16 marks.

Compulsory Question

1. Write brief notes in about 150 words each on the following :
(a) Active and passive articulators.
(b) Ilustrate coinage and Borrowing.
(¢) Noun clause.

(d) Audio Lingual Method.
UNIT-I
2. Write a detailed note on phonatory system of articulation.

3. Transcribe the following words, marking stress wherever
required :

Notion; Psychology; Certain; Violate; anmb Kangaroo;
Millionaire; Advice; Soliloquy; Receipt; Electricity; Absent
(N); Impugn; Arrears; Messiah; Cassette.

6345-S/400/KD/1953 [P.T.O.



4.

UNIT-1I

The Middle English Period was marked by Momentous
changes in English language. Discuss.

Translate the following into English :

T TH WM WRadd SR wedt g omwiansi ® g ¥ wh
R & A @E § W N wo-we vt € R
T T P W wwm ¥ AeE tem Y TeeR
frofas 7@ #1 e v o T w® 9 ¥ e
&t 30 & i © o A B vfy meee s
TR FT A& T A ® 9 o F 7 seeh =
et ft T oW T F T W oW R w
e FH #3991 T @A =fen) ¥ eshwd ©
fogim =1 o+t W * =R w1 fo-few o0 W
I} & T THiEsh 1 T ok umeE #5199l
F@ ¥ W TR wWeE B W R

UNIT-HI
Write a detailed note on Relative clauses.
Write a critical appreciation of the following passage :

.......... We never thought of being alone together again; it
has all been done by others. See how the tide is carrying us
out, away from all those unnatural bonds that we have been
trying to make faster round us. and trying in vain. It will carry

6345-S/400/KD/1953 2

us to Turky, and we can land there, and can get some carriage,
and hurry on to York and then to Scotland, and never pause
till we are bound to each other so that only death can part us.
It is the only right thing, dearest it is the only way of omowv_sm
from this wretched entangels entanglement.”

UNIT-1V

Discuss the problems and perspectives of teaching English in
India.

Derive a pedagogic exercise teaching present perfect tense.

6345-S/400/KD/1953 3
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MDQ/D-17 6347-S

LITERATURE AND GENDER
Paper—Course-X

Opt. (1)
Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 is compulsory.

Attempt one question from each of the four units.

Compulsory Question
1. Write short notes in 150 words on the following :
(a) Lighthouse as a symbol in To The Lighthouse.
(b) Denver in Beloved.
(c) Symbol of Purple colour in The Color Purple.
(d) Character of Kusum in That Long Silence.

UNIT-1
2. Bring out the character of Jane Eyre highlighting her feminist

traits.

3.  What does the light house symbolize in Woolf's To The
Lighthouse ? Explain with reference to the main theme of
the text.

6347-S/400/KD/1814 [PTO.

UNIT-II
4. A Room of One's Own shows power of female imagination
at its best. Elaborate.

5. Why does Beauvoir term woman as "the other” in her
introduction to The Second Sex ? Elaborate.

UNIT-III
6. Morrison's novel Beloved is a blue print for gender
awakening. Discuss.

7. The Color Purple is concerned with defining the existence,
experience and culture of Afro-American Women. Elaborate

UNIT-1V
8. The Golden Notebook is Anna's search for freedom and
identity. Discuss.

9. Discuss Shashi Deshpande's treatment of male characters in
That Long Silence.

6347-S/400/KD/1814 2
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MDQ/D-17 7339

CRITICAL THEORY
(Part-I)
Course —- XI
Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 is compulsory.
Attempt one question from each of the four units.

Compulsory Question
1. Write short notes in 150 words on the following :

(a) Concept of possible and probable in tragedy.
(b) Three dramatic styles described by Bharata.
(¢) Two qualities of good poets according to Horace.

(d) Unity of place in Shakespeare.

UNIT-1
2. Write a detailed note on Aristotle's concept of imitation.

3.  What are the important constituents of tragedy according to

Aristotle ? Discuss.

7339/1,150/KD/1406 [PTO.

UNIT-1I
4. Bring out Bharatmuni's ideas about rasas as described in
Natyashastra.

S.  What is Bharatmuni's contribution to the poetics of Drama ?

UNIT-1I1
6. How does Horace justify his advice to poets that they should
"follow Nature" ?

7. Discuss Horace's dictum that poetry should both instruct
and delight.

UNIT-IV
8. What according to Johnson are the weaknesses of
Shakespeare as a dramatist ?

9. Write a note on Johnson's views on Shakespeare's universal
appeal in his plays.
7339/1,150/KD/1406 2
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MDQ/D-17 7340

AMERICAN LITERATURE (PART-I)
(2013-14 Syllabus)
Paper - XII

Time : Three Hours] {Maximum Marks : 80

Note : Attempt five questions in all. Q. No. 1 is compulsory. For
the remaining four questions. Attempt one question from
each unit. All questions carry equal marks.

Compulsory Question

1. Answer the following short answer type questions in about
100-150 words each :

(a) Which symbols are used by Whitman in his poem “When
Lilacs Last in the Dooryard Bloom’d” ?

(b) Highlight and comment on the literary elements in Emily
Dickinson’s poem “Because I Could Not Stop for Death”,

(c) What is the reaction of Huck and Jim towards the forged
appearance of the Duke and the Dauphin ? Discuss.

(d) Comment on the role played by Madame Merle in The
Portrait of a Lady. (d4x4=16)

7340/1,150/KD/753 , (P.T.O.



UNIT-1

Write a comprehensive note on Whitman’s relation to
American Transcendentalism.

OR

Discuss critically the use of imagergy in Whitman'’s poetry
with the help of illustrations from the prescribed poems. 16

UNIT-11
Examine critically Emily Dickinson’s poem “The Heart Asks
Pleasure First.”
OR

Write a critical note on Emily Dickinson’s contribution to the
growth of American Poetry. 16

UNIT-1II

What impressions do you form of the character of Huck after
your reading of the novel The Adventures of Huckleberry
Finn ? Discuss critically.

OR

Make a thematic analysis of the novel The Adventures of
Huckleberry Finn. 16

7340/1,150/KD/753 2

8.

UNIT-1V

Do you agree that The Portrait of a Lady is primarily
concerned with Henry James’s attempt of exploring an ideal
culture ? Give a justified answer.

OR

Discuss the “point of view” technique with special reference
to The Portrait of a Lady. 16

7340/1,150/KD/753 3
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MDQ/D-17 7341

INDIAN WRITING IN ENGLISH
Paper—XIII

Time : Three Hours]

Note : Attempt five questions in all. Question No. 1 is
compulsory, candidate shall choose one question from
each of four units. Each question carries 16 marks.

[Maximum Marks : 80

Compulsory Question

1. Answer in about 150 words:
(a) Savitri's childhood.
{(b) Critical note on "The Invitation".
(¢) "The Logic".

(d) Luxmi's character sketch in Coolie.
UNIT-I
2. Comment on Savirri Book IV as a mystic poem.
OR
Write a critical note on Aurodindo's Savitri Book IV. 16
UNIT-II
3. Discuss Kamala Das as a feminist.

OR
7341/1,150/KD/752 _ {P.T.O.

Bring out confessional elements in Kamala Das' poetry. 16
UNIT-III
4. Ilustrate your views on the themes of Mahapatra's poems.
OR
Consider the significance of Mahapatra as a stylist. 16
UNIT-1V
S.  Write a critical note on the episodic structure of Coolie.
OR

Examine critically Munoo's character sketch in Coolie. 16

7341/1,150/KD/752 2
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MDQ/D-17 7343

ENGLISH LANGUAGE (PART-I)
Paper — XIV
Opt. (ii)

Time : Three Hours] [Maximum Marks : 80

Note : Besides question No. 1, which is compulsory, choose one
question from each of the four units, attempting five
questions in all. Each question carries 16 marks.

Compulsory Question

1. Attempt the following short answer type questions, each in
about 150 words :

(a) Syllable structure.
(b) Nucleus in intonation.
(c) Latin influence on old English.

(d) " Explain Coinage and Borrowing.
UNIT-I

2. Explain Active and Passive anticulators with specific reference
to place and manner of anticulation.

3. Discuss Intonation and its functions.

7343/1,150/KD/751 [P.T.O.



4.

UNIT-II

Transcribe the following words phonemically and also mark
the primary stress wherever required :

Certain; Soliloquy; Millionaire; Whenever; Demeanour;
Felicitious; Society; Indictment; Bigamy; Extempore;
However; Democracy ; Cigarette; Record (N); Professors;
Keroeane.

Mark the intonation with stress on the following sentences :
(a) Would you like to have some more coffee ?

(b) Let us go to the restaurant for dinner.

(c) If everything is alright, I will marry soon.

(d) We leave for evening walk at six o'clock everyday.

(e) How is your brother ?

(f) Sangeeta might leave for Delhi tomorrow.

(g) What a wonderful book!

(h) Jane is intelligent.

(i) The question was very easy.

(j) He kept me waiting for long.

(k) We looked at the sky and saw the clouds.

(1) Attack the enemy at once.

(m) Who is attending the phone call ?

7343/1,150/KD/751 2

(n) If possible, take the patient to the doctor.
(o) Fortunately, we escaped unhurt.

(p) Reema looks beautiful today.
UNIT-III

“The Middle English period was marked by momentous
changes in English language.” Discuss.

Discuss the Renaissance influence on 16th century English.
UNIT-1V

Explain with illustration the process of compounding and
conversion.

Translate the following passage into English :

T TR IRR T A9Ed T € ol v ey e € Wy
Faa 78 ITH o9 T 1 3 oifE, fm ok TR #
T A F THaS FH B TF ARSI o 3 #)
g F O § T A o g e &Y e B T
TRR F A o & 3R @w g fmm #® @
ferqm frt w8 dwen w1 € 6 S® w1 N B WR B
TW 3 RO & g F e FW B A T A w2
J et 21 ey O o e YRR & A afew fRam of
WfFa B 2w O @ Fm T R TR T ey fem
TF @ R A fam @ R

7343/1,150/KD/751 3
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MDQ/D-17 7344
LITERATURE AND GENDER (PART-I)
Paper : Course-XX
Opt. : (i)
Time : Three Hours] [Maximum Marks : 8C
Note : Attempt five questions in all. Question No. 1 is compulsory.

Attempt one question from each of the four units.

Compulsory Question

Write short notes in 150 words on the following :

(a) The Red Room as a symbol in Jane Eyre.

(b) The opening of To The Lighthouse.

(c) Does Woolf think poems are superior to novels ? Explain.

(d) Character of Ella in The Golden Notebook.

UNIT-1

Jane Eyre works both as the absorbing story of an individual
woman's quest and as a narrative of the dilemmas that confront
so many women. Discuss,

Jane Eyre contains Gothic, Romatic, and Victorian elements.
Elements of these styles do not simply exist for their own
sake, but underscore the major theme of Jane's personal
progress. Discuss.

7344/1,100/KD/1859 [P.T.O.

UNIT-1I

4. Write a note on the significance of title To the Lighthouse.
S.  To the Lighthouse is a novel about the search for meaning in
Life. Discuss.
UNIT-III
6.  Discuss the feminist concerns in Virginia Woolf's A Room of
One's own.
7. Mrs. Ramsay is considered one of Virginia Woolf's most
successful creations. Discuss,
UNIT-1V
8. Critically examine Julia's predicament in The Golden
Notebook.
9. How does Lessing bring gender bias to the forefront in The
Golden Notebook ?
7344/1,100/KD/1859 2



ROl NO. v Total Pages : 2

MDQ/D-17 7346
NEW LITERATURES (PART-I)
Paper-Course XV
Opt. : (iii)

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Select one question from
each unit. All questions carry equal marks.

UNIT-I
1. The Vivisector is about an artist's search for identity. Discuss.

2.  Write a note on the structure of Patrick White's The Vivisector.

UNIT-II
3.  What are the major concerns of Judith Wright in her poetry.

4. Write a detailed note on Judith Wright's poetic style.

UNIT-III
5. Comment on the thematic significance of the title My Place.

6. Write a note on the narrative technique in Sally Morgan's
My Place.

7346/600/KD/749 (P.T.O.

UNIT-1V

7.  How does Achebe weave myths and stories of Igabo culture
in the Western genre of a novel in Things F all Apart and for
what purpose?

8. Discuss Things Fall Apart as a postcolonial novel.
UNIT-V
9. Write short notes on any four of the following in 150 words
each:
(a) Thomas Keneally.
(b) Bruce Beaver.
(c) Ngugi Wa Thiong'o.
(d) Doris Lessing.
(¢) V.S. Naipaul.
(f) We are Going by Keith Walker.

7346/600/KD/749 2



8.

UNIT-IV (F&E-1V)

One possible social ordering is to put the titles of all possible
alternatives in a big drum, draw the titles at random, and
use the order of drawing to determine the social ordering.
Which of the assumptions associated with Arrow'’s
Impossibility Theorem are satisfied and which are violated
by this social ranking ?

TF T T veE 2 R o s 3w A oadt
gufan freedt & el 1 Fae, agfms W wiNs
FIEY, TORTE wE w1 fife v e gt @
FO F IHM FFY W F FEYS FHI § FEA
yromet ¥ ¥ wE-9 g ¢ ok wm gmtw i 3w
fre Sowem fRa T 2

Externalities associated with public goods can be corrected
by either the government directly supplying the commodity
or the government subsidizing the supply. Provide an
example of each method.

T e ¥ I TR WS W W A &R 5N,
g B G oM ® g0 AW wEH g Wi &
T 3% fFw W wwar @ T Aty T ST
Ffal

6088-S/50/KD/1026 4

ROII NO. v,

Time : Three Hours]

Total Pages : 4

MDE/D-17 6088-S

MICROECONOMIC ANALYSIS
Paper-I

[Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 is

compulsory. For remaining four questions select one
question from each unit. Each question carries equal
marks.

AT : T WE Y TH W TR EL KA U T H

IR Y T wem 1| ofed §1 it T A
TR F

Compulsory Question ( sfvard wee)

Write short notes on the following :
(a) Opportunity cost.

(b) Normative economics.

(c) Pareto-efficient allocation.

(d) Prisoners' Dilemma.

(e) Sunk cost.

(f) Third-degree price discrimination.
(g) Consumer surplus.

(h) Engel's Law.

frefafen w dfya feooft fafam :
(%) fareq @rmI

(@) fram srefeme|

6088-S/50/KD/1026/Trans. [P.T.O.



(M WA I AEAI

(7) HfE = gfam

(¥) fawa @

() IFa R_vE w e e
(B) s SR

(V) & =1 I

UNIT-I (T&T3-1)

Empirical evidence indicates that as a country's per-capita
income increases, its birth rate declines. Assuming that
household preferences remain constant, does this indicate
that children are inferior goods ? Explain.

IS WeF I Z9h & R jw @ wha =fw e
¥ afg & 1 F @ 9N R A fREe o #1 9% me
T 5 g mefyerae omar o wd € ol 7
THa oo € 5 T2 ¥ =8 ¥ =mem wifww

‘Cropping pattern in India is governed by the last year's
prices’. Examine the statement and support the comments
with diagrams. Under what conditions can agriculture
production be stabilized ? Explain with diagram.

IR ¥ wOe WY frow 9| # SiEa 9 e e
?1 weR w1 W ;g o ® wy ot w
Tue wifew e ufferf @ Tee wf saes fer @
TFa 27 foel wfed =men s

6088-S/50/KD/1026 2

UNIT-M (FarE-11)

Explain the role of technical progress on production.
Distinguish between capital deepening technical progress and
labour deepening progress. How is neutral technical progress
different from above two ?

IERA W FHAH TG F1 i F1 sqren it got
T W # Ao iR aful # oyl o wereg
F W9 =R U TR gEAE T FR oawet gE
TFF W B o= @2

Explain why long-run cost curves are envelopes of short-
run cost curves.

TN AN 9% STYFET AN g% T SEN0 )
27 =mEn wf

UNIT-III ( §h1E-111 )

Explain how the kinked demand curve hypothesis supports
the view that prices in an oligopolistic market tend to be

-stable.

IFETfUFR IWR H g fer g9 =ifet swe fe=es
F AN TF GiEesT faEr F9 wwedw w2 swen
HIfSC

Critically explain the Williamson's model of managerial
discretion.

fafamm = weysg faaw & dfsa & wHaes
RS HIfTa

6088-S/50/KD/1026 3 [P.T.O.
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MDE/D-17 6089-S

MACRO ECONOMIC ANALYSIS
Paper-II

Time : Three Hours] [Maximum Marks : 80

Note : Attempt all parts of Questions No. 1 which is compulsory.
Attempt four more questions, selecting one question from
each unit. All questions carry equal marks.

AT WA SN | W fF oofeE § ® w9 @ S
I FF THE W TH WA F T FWE Y WW
I Y F SW AT 9t we # ofwm mEm f

Compulsory Question ( 3f@rd wgw)
1.  Answer the following in brief :

(a) What do you mean by Absolute income hypothesis ?
2

(b) What do you mean by Flexible theory of investment ?
2

(c) What is the meaning of Interest rate ? 2

(d) What do you mean by Friedman theory of Demand for
money ? 2

(¢e) What is the meaning of Open economy ? 2

(f) What do you mean by lags in the effects of policies ?
2

(g) What is the meaning of Rational expectations ? 2
(h) What do you mean by Sticky nominal prices ? 2

6089-8/500/KD/1012/Trans. [P.T.O.



f= =1 deg § I afe g

(F) Y0 @ IFeT ¥ AGH a9 €7

(@) frw # @ fogia | s &= aed 22

(M) &9 A 7 oad 2

(9) BIeER ¥ w1 % fou A = fogm ¥ om0
e E?

(¥) gF Jdemaeen § ¥ ad €7

(7) e ® yuEl § ot ¥ oA #?

(B) Sifamql wemmett ¥ w1 aed #?

(W) ofter srarafa® T § oTE ¥ oad €2

UNIT-I (T&E-1)

What do you mean by Psychological law of Consumption ?
Explain in detail. 16

IUHM & AREIE FEm @ e @ aned #2 faengds
T

What is the meaning of Marginal Efficiency of Capital ?
Explain in detail. 16

TSt # Wwie FEEEm ¥ o aed ®? faRgEs
TS

UNIT-HI (3&tE-I1)

What do you mean by Keynesian approach to Demand for
money ? Explain in detail. 16

W F YR F UM F IRV W 9w F oA 22
fowmgds a9Em

6089-S/500/KD/1012 2

What is the meaning of IS-LM model ? Explain in detail.
16

RO, Afed ¥ F a2 faRRgEs gHemy
UNIT-III ( gTE-111 )

Explain the Mundell-Fleming model in detail. 16
qeA-vf Hiew w1 famR ¥ uEEy

Explain the Kaldor's model of Business cycle in detail. 16

FEER F WOR WF & AeA W fwm ¥ wwwmsw

UNIT-1V (F&E-1V)

Explain the Phillips curve in detail. 16
feferm a% = fawRgEs wagmU

What do you mean by Demand pull inflation ? Explain in
detail. 16

T feuE gEERift @ o @ oAl 22 frengds
THTEY

6089-S/500/KD/1012 3
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MDE/D-17 6090-S
QUANTITATIVE METHODS
Paper-1II
Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 is
compulsory. Select one question from each unit. All
questions carry equal marks.

WAz ;. w@ U T F IR A v wEw 1 afEe R
TIF TR Y TH T F 9 siww o v @
% AR R

Compulsory Question ( Af@ard we+)

1. Explain briefly :
(a) Price Elasticity of Demand.
(b) Consumer Surplus.
(c) Feasible and Optimal solutions.
(d) Inverse of a Matrix.
(e) Base Shifting.
(f) Two Person Zero Sum Game.
(g) Mutually Exclusive Events.
(h) One-tailed and Two-tailed tests. (2x8=16)
T § THER :
(F) A F @ A=
(@) s e

6090-S/500/KD/1011/Trans. [P.T.O.
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() =Te™ 9 T=a" T

() AE F1 =w|

(¥F) YR TerTaRon|

() T =R =@ am B

(B) WER 3T9aS e

(V) T-7=1 qan fg-T=sr wiem

UNIT-I (&7~ )

Under Perfect competition the price of a product has been
determined as Rs. 6 per unit. An Individual firm has a total

cost function given by C=10+15x + 5x° + 1 x*. Find the
3

quantity produced at which profit will be maximum and the
amount of maximum profit.

C=10+15x +5x° +Wm 2 39 O = I Fifse, fag

ﬂ%ﬁ@ﬂﬂ%mﬁﬁaﬂd%ﬁa@ﬂ&
I FIfSQ

(a) Evaluate :

3 2
X' +4x° +2x+
_. X amm.

2x+1
(b) Solve :

Yesa =1y, +10y, =27 (8+8=16)

6090-S/500/KD/1011 2

(%) 8@ FIf9T

._.xuft% +2x+5
2x+1

dx -

(®) T HIfwT :

..v\n+N 'HH%TTH + Ho..v\u = N.N .

UNIT-1I ( $ahT3-11)

Solve the following equations by applying Inverse Method
and also verify the result by Cramer's Rule :

2x; + 8x, = 34

4x, + 12x, = 56. 16
frafafas wHiFon &t wfoam fafu o @ wifST ga
wfomm F1 v fEm gR gfe Fifg

2x; + 8x, = 34

4x; + 12x, = 56.

Solve the following LPP by Simplex method :
Maximise Z=5x) + 3x,
subject to constraints
6x; + 2x, < 36
Sx; + 5x, <40
2x; + 4x, < 48

X Xy 2 0. 16

6090-S/500/KD/1011 3 [P.T.O.



frofafas Waw wm w9 (LPP) &t W& fafy gmo
TA HIAQ ;

EIEETC IS Z=5x +3x,
T %
6x; + 2x, < 36
5xy + 5x, €40
2x; + 4x, <48
X %y 2 0.
UNIT-II ( $e13-111 )
6. From the following data, calculate Seasonal indices by Ratio
to Moving Average Method :
Year : 2001 2002 2003
I Quarter 68 65 68
IT Quarter 62 58 63
III Quarter 61 61 63
IV Quarter 63 61 67 16
frafafea siwel 3R orum ¥ wirfer ofma fafw gm
EL] 2001 2002 2003
I femmelt 68 65 68
11 fommt 62 58 63
111 fommet 61 61 63
v famret 63 61 67
6090-S/500/KD/1011 4

7.

What do you mean by Bivariate data ? Discuss Statistical
analysis procedures that deal with Bivariate data. 16

fgmr oTwel ¥ vyt w0 ad 22 feR sl § wdw
w1 difegs! faveww fea-fafm =1 ==t Fifw

UNIT-IV (3&TE-IV )

What is Normal distribution ? Discuss the properties of
Normal distribution. : 16

T famm w2 T Ao # T W e
Hifsu

Two random samples drawn from two populations are given
below :

Sample I : 20, 16, 26, 27, 23,22, 18, 24, 25, 19.
Sample II : 27, 33, 42, 35, 32,34, 38, 28, 41, 43, 30, 37.

Test whether the two populations have same variance
[Fy g5 = 3.11]. 16

T wHfea ¥ fou MU S AT TR W OWER ¥

TN . 20, 16, 26, 27, 23,22, 18, 24, 25, 19.

T : 27,33, 42, 35, 32, 34, 38, 28, 41, 43, 30, 37.
St Ffsm fF w1 AF Tomed B 9um w2
_”HMOOM = M.HHH.

6090-S/500/KD/1011 5
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MDE/D-17 6091-S
PUBLIC ECONOMICS
Paper-1V
Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Q. No. 1 is compulsory.
Select one question each from Unit-I-IV.

AT ;. FHF O T B SW T v gEw 1 AfEE R =R
TRl (-1V) T ¥ U&F W99 F 999 S

Compulsory Question
(PaErd we)
1. @ Ummsm bureaucratic behaviour.
FrFmdt =EEr w R w
(i) What is plurality voting ?
Esuiicicaics i
(iii) Define non-dictatorship.
R-aremE w1 e w1
(iv) What are single peaked preferences ?
Fd SRR s o ¥ 2
(v) What is political optimum ?

ToifaE e = R 2

6091-S/500/KD/1107/Trans. [PTO.



(vi) Define unconditional grants.
fa v TR W R
(vii) What is second best optimum ?
gl R T arEEa w2
(viii) What is social discount rate ?

T G W AR 2

UNIT-I (3%TE-1)

How asymmetric information create market failure ?
Discuss.

ﬁuﬂm%ﬂ&mﬂﬂﬂﬁﬂmﬂ%@ﬁﬁwww
=91 HI

Explain theory of club goods and discuss the optimality

conditions about these goods.
ﬁmﬂm&%%ﬂﬂaﬂﬂﬂm%ﬁmﬂ%%%
¥ orfEeed v W = HH

UNIT-II (FE-1I)
What is second best optimum ? Discuss the second best

optimum case of public goods.
o TR o oERTa FN ¥ 7 WEw el Hl
T TR e AT IR W == W

6091-S/500/KD/1107 2

| |

Write a detailed note on the problem of capacity constraints
and peak load.

a F T ok g wie W Swen W T P e
o

UNIT-II (¥eT$-II1)
What are the various distorting effects of taxation for
individuals ? Discuss.

s ® fon FOuA @ fafas fagpa v = € 2
Exdl

Discuss the concept and measurement of excess burden
of a tax.

7 3 offE S F o ot WM W == W

UNIT-IV (F&TE-1V)
Discuss classical and modern theory about the burden
controversy of public debt.

&ﬂﬂa%%%ﬂmﬂ%%m%n@a%
smyfr fag ® == R

Discuss Tiebout model of local public expenditure along
with its assumptions.

%%%&%ﬁgﬁﬂﬂgﬁﬂ
e ==

6091-S/500/KD/1107 3
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CMDE/D-17 6709

MICRO ECONOMIC ANALYSIS-I
Paper-101

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all, selecting one question from
each unit. Question No. | is compulsory. All questions
carry equal marks.

AT : FIF FE W UHE WT F T FW L, HA G
T F I AT wew wem 1 st §1 o g
F 3% 99 &

Compulsory Question ( 3THard Wy=)

1. Answer all parts briefly :
(a) What do you mean by consistency ?
(b} Define substitution effect.

AY

(c) What do you understand by labour deepening technical
progress ?

(d) Write two economies of scale.

(e) Effect of lump-sum and VAT on price under perfect
competition.

(f) Meaning of Economic substitute.
(g) Barometric price leadership.
(h) Define cartels. (8x2=16)

6709/900/KD/348/Trans. [P.T.Q,
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(F) SETM ¥ M T e B?

(@) vfeerm g w1 ity s

(M #fHF TEUR AR W W M T wEER ¥
(%) T # X oo =Eea fafay

(%) ¥ yhent # T T W o g o i

(VAT) #1 YW@ =T

(%) snfe vfaemm #1 o1d "awu

() TEEM T AgE ;R

(3) wa w1 wfeqfem FifFw

UNIT-I (¥mé-1)
State and prove Slutsky theorem for Giffen goods when price
of product rises as per Hicks.
fer & S{ER 9 IOR w1 g wg@ ? q@ fred
TR # fau wew W w fafan auw fag s
How Hick's Consumer's surplus analysis is an improvement
over Marshall.

feam #1 Sudism fudy favewm fFg YR Ante =
TF YR o7

UNIT-II ( g&TE-11 )

Determine equilibrium of single product firm.

T ITAR THFR B UEGEAd F FE S

6709/900/KD/348 2

Elucidate modern cost curves.

MYfF A TR HI SR FISU
UNIT-III ( 3eht3-111 )

How the equilibrium of firm and industry is determined in
short-run under perfect competition ?

T wfrert % 99 TF TER qw SEN W og-sEfy
¥ goged w +9 fife frm s &2

Explain Chamberlin's approaches to equilibrium of the firm
under Monopolistic competition when there is price war as
well as free entry of firms.

TFFR Ffaeadt % Toa s&fE g9 Wt @ qur @y @
Y TR F g YO @ 96 g6qedd ® Seved
F gfesol # oy

UNIT-1V (3&TE-1V )

Critically examine Cournot's model with the help of reaction
curves.

wfafra aF 1 wEEE 3w & AT w1 aHiems
TR it
Explain dominant firm price leadership model.

WA TR T g HigA & HHHARU

6709/900/KD/348 3
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CMDE/D-17 6711
MACRO ECONOMIC ANALYSIS-I
Paper : 102
Time : Three Hours] [Maximum Marks : 80

Note : Attempt all parts of Question No. 1 which is compulsory.

Are

.o

Attempt four questions more selecting one question from
each unit. All questions carry equal marks.

Y & 1 A R TEw 9 9 @ s Af
TIF THPE ¥ TH W9 1 999 W 9K AR T ®
I Afw aff v F oF e ¥

Compulsory Question ( 3tF@ard wes)

1. Answer all the following :

(a)

(b)
(©

(d
(e
®

(g)
(h)

What do you mean by National income accounting ?
2

What do you mean by Social accounting ? 2

What is the meaning of Simple theory of Investment ?
2

What do you mean by Profit theory of Investment ? 2
What do you mean by Quantity theory of Money ? 2

What is the meaning of Patinkin’s Real balance effect ?
2

What do you mean by Money supply ? 2
What do you mean by Monetary control ? 2

6711/900/KD/350/Trans. [P.T.O.



= aft ¥ sw dfem 5.
(F) T 319 oR@FT | YH F1 areqd #2

(@) TS ST W SAuH 1 aead 27

(M fEw % W fogm ¥ 7= T ¥

(7) fw & =9 fag[ 9 aE w0 oaed 82

(F) g0 % = fag@ | emve w7 oA #7 6.
(9) UfefFa & arafas Gaem 9 ¥ T oaead €7

(B) ga F g ¥ TR w aad €2

(W) Aifgk T 4 v w0 oaed €2 7.
UNIT-I (g&h3-1)

What do you mean by Balance of payments accounting ?

Explain in detail. 16

A TIeW AEEd ¥ U 9 ad 2? fawngEw

BEEE 8.

Explain the Keynes Psychological law of consumption in
detail. 16

FFE ® SUEM F TEEWAF 9 F1 fTargds geEEn

What do you mean by Marginal efficiency of capital ?
Explain in detail. 16

TSt F ER &HA ¥ Y ;oA ®? fawngEs
BLEIR

UNIT-III ( §hTE-111)

Explain the Keynesian theory of Demand for money in detail.
16

N F OqE 9 & fagid #H fGangEs wwemu

What do you mean by Baumol’s theory of Demand for
money ? Explain in detail. 16

IRHA & qH W fagia | A = A 27 faemgds
T

UNIT-IV (TFE-IV)

What do you mean by Monetary expansion and contraction ?
Explain in detail. 16

Tz famR qen FHTA ¥ ouH F A €2 fraryEs
THARE

9. What do you mean by IS-LM model ? Explain in detail.
UNIT-1I ( Z&TE-11 ) 16
. . JETH-TATH. (IS-LM) At | 9% F1 aad 87
What do you mean by Investment function ? Explain in
detail. 16 Foreamgeie ey
v = ¥ o ;= oaed 7 fawRges wwEEy)
6711/900/KD/350 2 6711/900/KD/350 3



9. (a) Solve the following game :

Player B
1 I I IV
1{3 2 4 0
Plajer o 1|3 4 2 4 110-6=16)
m|4 2 4 0
v[io 4 0 8

(ii)) Explain Maximin-Minimax Principle and Principle of
Dominance.

(%) Frefafan T+ &= wifsw

v

I

faareta 1
' I
v

O B LW W e
O R N SN =)
O#NbEw

ow O + O

(@) sfy=m-=petfy fagia qan wumar = fagl@ =i
TRy

6712/1,000/KD/351 6

RoI NI s Total Pages : 6
CMDE/D-17 6712
QUANTITATIVE METHODS-I
Paper-103
Time : Three Hours, Naximum Marks : 80

Note : Attemp: “ive questions in all. Question No. 1 is
compulsory. Selecting one question from each of the four
units I-IV. All questions carry equal marks.

de . w@ de T # T AU v wew | st f
AT WG IV E TE ¥ TH WA FOFET Fiwg

Compulsory Question ( T w97 )

1. Explain briefly :
(a) Symmetric Matrix.
(b) Adjoint of a Matrix.
12+ Price Elasticity of Demand.
(d) Chain Ruie of Differentiation.
(e) Integration by Parts.
(f) Difference Equations.
(g) Slack and surplus variabiec.

(h) Two person zero sum game. (8x2=16)

6712/1,000/KD/351/Trans. [P.T.O.



TEgT ¥ gHEmT .

(%) gufaa sTegEl

(@) g 1 Teraew|

() | w® eI A
() STFe F y@en fam)
(F) 9 g THIHe|

(%) f=ar g

(3) Fferz qen atfiee =
(W) } =R = A g9

UNIT-I (%ot )

2. The input-output coefficient matrix is given below and the
final demand matrix is also given simultaneously. Find out
final output. 16

02 03 02
A=/04 0.1 02
0.1 03 0.2

and Final Demand

10

~

A oTm-frie iR oTegE fm T € wen mw @
sfen #in omegE ot ww Wy e ma #1 sitm fole =
A Fie

6712/1,000/KD/351 2

02 03 02

A=104 0.1 0.2 T Sifrm Wi
01 03 02

Solve the following equations by Cramer’s Rule and Matrix
Inverse method : 16

»

X +4x, +2x;=6

2+ 3%y +x3=4
frafafen Tl w1 #m F fo9 9O o e
fafy g &@ wifeC -

3x; +xy-x3=35

X+ 4x, + 2x3=6

Nf + wuu + X3 = 4,
UNIT-II (ga3-11 )

2 2 d?y b
4. If mw+.wh~.ufm8<a that —5 = A 16
a

amml+wlngﬁHﬂﬂﬂnﬂ|u|:.

Q

6712/1,000/KD/351 3 {P.T.O.



If e, and e, be the price elasticities of demand laws p = €*

&R

and p=—, show that e¢; e, = ¢; — e,. 16
X

X

AR e, T ¢, W B p=of WA p= F T
X
el ®, 79 TR F e, ey =€) - ey

UNIT-III ( ¥&hrE-1I1 )

3 x+1

flog (1
(b) Evaluate E&. (8+8=16)

(a) Evaluate dx,

x+1

(%) . I .-.)\x +wx+p

(@) T e .—_om (log xv

Solve the following demand-supply model : 16
.x,.& =0 — m W~
x,=-Y+06P,_;

Determine the time path P, and discuss its nature.

6712/1,000/KD/351 4

freafefEn wh-sg e W Tw W
x;=0-BP,
ng\+mwT

gog U4 P, F WA HINWC I THE FHEM W =
IS

UNIT-1V (9&E-1V )

Solve the following LPP by Simplex method :

Maximise : Z = 4x; + 6x,

subject to constraints 16
x; + 3x, 240
3x; + 4x, < 370
2x; + x, < 180

Xps Xy 2 0.

frefafes W@ wARYH A H farees fafy gm '
Hifaq
sforram FAAY ¢ Z = 4x, + 6x,
ER B 11
x| + 3x, S 240
ux_+bxmmnﬁo
2x; +x, S 180

Xy Xy 2 0.

6712/1,000/KD/351 5 [P.T.O.
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CMDE/D-17 6713
PUBLIC ECONOMICS-I
Paper-104
Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Select one question each
from the four units I-IV. Q. No. 1 is compulsory.

AT : F@ uw WA F W Y IR @A LIV TS
¥ & WA O T BN oy gem | afEd

Compulsory Question ( 31 ETd W9s)

1. Answer the following in short :
(a) What is Pareto Optimality?
(b) What are impure public goods?
(¢) What is free riding?
(d) What is rent seeking?
(e) What is tax incidence?
(f) What is Ramsey rule?
(g) What is tax evasion?
(h) What is deadweight loss?

fm w ofew Ae e .
(%) T e = 22
(Q) AT v IRd 7 oR?
(M) qH FREW T 7?2

6713/900/KD/352/Trans. [P.T.O.



() fean A = &2

(¥) FO99 =71 7

=) ¥ frem T &

(B) X T T 7

() /& R af =0 o6t &

UNIT-I (F&ht3-1)

What are externalities? Discuss how these can be internalized?

gﬂﬂnﬁ%lﬁﬂmﬂa%ﬂgﬁg%

What is asymmetric information? Explain the market failure
due to asymmetric information.

SALIEE RIS I PRI O e R sr——
fowmem =1 wwmmEy

UNIT-1I ( ghTé-IT )

What are public goods? Discuss the efficient provision of
public goods using Samuelson model.

TSt Ty w2 dqennm wew B Iwm @
e wgel ® wem wEe wowst g

Discuss the preference revelation mechanism propounded
by Clarke.

ﬁﬂgnﬂﬂﬂﬂnﬂﬂsﬂ-ﬁﬂmﬂ
Fifem|

6713/900/KD/352 2

UNIT-II ( ¥&mé-111 )

Discuss the incentive effects of excise taxation on supply of
labour.,

B A W IOR WS WEET oy w ww
FHifsa)

Discuss the incidence of taxation in a partial equilibrium
framework.

T A T B el ¥ wvm s e Fifsa
UNIT-1V (¥&TE-1V )

What is excess burden of tax? How this burden can be
measured?

FF FARE g e R0 W W S mw o
TFa 27

Discuss the effects of corporation tax on corporate decisions.

ﬁ.ﬂ&w&ﬂﬂz&ﬁjﬁ%ﬁiﬂmﬂ%ﬂ

6713/900/KD/352 3
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CMDE/D-17 6716
ECONOMICS OF INFRASTRUCTURE-I
Paper : 105
Opt. (iii)
Time : Three Hours] © [Maximum Marks : 80
208 Attempt five questions in all. Question No. 1 is
~ compulsory. For the ramaining four questions select one
question from each unit. All questions carry equal marks.
W : T@ ulw v ® I W ww g 1 atEd f)
MW WX v F fag ww W @ @ W W ow
iy ot v # i wm #
Compulsory Question ( 3tPrard wer)
1.  Answer the mcmaiwam,,wa brief : |
(a) Define Social infrastructure.
(b) The major schemes for financing mnm&mndoﬁa in India,
(c) Conceptualise Law of ngsm Return,
(d) What do you mean by Environment cost of Transport ?
(¢) Mention two features of Railway ownership in India.
(f) Name the International Control Body for Air traffic.
(8) Define HRD. i
(h) Mention rwo challenges of Higher &an@wg

6716/100/KD/515/Trans. +[P.T.O.
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UNIT-IV (FehE-1IV )

8. Why is agriculture crucial to economic development? What
are the major barriers faced by this sector in most of the
developing countries?

i fawm % fou w5t meagl w2 sfuww
frrrsiter 3o & wfe ¥ wohm gg@ W w &
9.  Write short notes on the following :

(a) Cost-benefit Analysis.

(b) Rationale of Economic Planning.
frefafen = dfva A g .
(%) Arma-wne faver)

(@) i fram =1 sifae

6353-S/150/KD/1005 4

Roll No. ..o, . Total Pages : 4

MDQ/D-17 6353-S

ECONOMICS OF GROWTH AND DEVELOPMENT
Paper-1X

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all, selecting one question from
each of the four units. Question No. 1 is compulsory. All
questions carry equal marks.

M : TOF R W TH-UH WA T T FE utw we
F SW T YH e 1 fEd ¥ w oue ® ofw
[ T

Compulsory Question ( 1fard 9yv)

1. Answer the following in brief (20-25 words each) :

(a) What are the limitations of PQLI as a measure of
development?

(b) How does division of labour lead to increase in
productivity according to Adam Smith?

(¢) Draw a labeled diagram to show Critical Minimum
Effort required for sustained growth.

(d) Differentiate between exogenous and endogenous
growth.

(e) Define capital technology as per Hicks.

6353-8/150/KD/1005/Trans. [P.T.O.



(f)  What is trade policy?
(g) State the major functions of IMF.

(h) What is Social Marginal Productivity Criterion of
investment?

frafafes st &1 sfra (20-25 w=) T %

Aﬂvmﬂﬂ%mﬂﬂﬂﬂﬁam&ﬂﬁ.ﬁ.ﬂ
. =

(@) Ten fmg % orqaR sfust 1 frwem 359 s
H 3fg w=@ &

(M iR g + o w0 37w vm # ko
fou sme amn s @i

(%) Afestin 3R srawia frrm & F9 osm e =Y

(®) feF & apem T demite w5 qRafe s

() =R Hfg = &2

@ﬁ@.ﬁ.ﬁ.%nﬁﬁ&ﬂmﬁm_

() Frow =1 wmferes i semea e T )

UNIT-I (3&TE-1)
How is poverty measured with the help of Multidimensional
Poverty Index (MPI)?

iﬂﬂﬁﬁ&i&ﬂﬂﬁﬁ.&.ﬁ.vﬂg@
Y T S E?

6353-S/150/KD/1005 2

Elaborate Marxian views on the process of economic
development. Why is the downfall of capitalism inevitable
according to Marx?

ﬁ&ﬂ@ﬂﬂﬁqﬂﬂmﬂm%@ﬂq&m
F AR F IR (R T 9 v w6 8

UNIT-II ( 3TE-11 )

Critically examine Domar's theory of economic growth,

@ﬂ&ﬁ.@ﬂaﬂa%ﬂﬂaﬂdﬁﬂ&%ﬂ_

Discuss Kaldor's model of growth under constant population.

@zﬂaﬂﬂﬂmﬁdﬁaﬂﬂﬂ%ﬁnﬂﬂmﬂ
FR

UNIT-TII ( %TE-II1 )

Do you think trade can act as an engine of growth in the
21st century as well? Justify your position.

ﬂ%ﬂﬂﬂw@%ﬁ%ﬂm@ﬁﬁ%ﬁm
%ﬂm%ﬂﬂgwwﬁigﬂﬁ%
Ersied

Discuss how WTO has helped the developing countries in
access to freer and fairer international trade.

#U fave-=R wrew fowfae o =) way sk
A SR R A e T 4 wer 31 2w
FX|

6353-S/150/KD/1005 3 [P.T.O.



UNIT-1V (¥=iE-1V ) ROl No. cvviverrnrirnnns Total Pages : 4

8. What do you mean by Staticnary Time Series? Discuss MDQ/D-17 m@mhlm
different tests for Stationarity of a Time Series. ECONOMETRICS
Ry TEH TN | o F afywE 87 U ORH Mmmoﬂv.w
% N & N ~ ~ N, U .
e ¥ =wnfE % fou s 9= = fFEem w1
Time : Three Hours] Maximum Marks : 80
9. Explain briefly :
(a) Box Jenkins Methodology. Note : Attempt five questions in all, selecting one question from
(b) Vector Auto Regression (VAR) each of the four units. Question No. 1 is compulsory. All

questions carry equal marks.

TEF W ¥ UH-UEH WA I L, F[A U e
F WA YA G 1 fed 1 wf v ® ofw
T ¥

frefafes =1 dfva = w1
(F) 99 SHAfE gerSTEAtS
(@) I A fovm

e

.o

Compulsory Question ( 7@ Wo)

1. Write short notes on the following :
(a) Homoscedasticity.
(b) Instantaneous and Compound Growth Rate.
(¢c) Types of Specification Errors.
(d) Simultaneous Equation bias.
(¢) Dummy Variable Trap.
(f) Auto Regressive Models.
(g) Reduced Form Models.

(h) Spurious Regression.

6354-8/150/KD/1006 4 6354-8/150/KD/1006/Trans. {P.T.O.



frfafas w w1z Sy .
(F) B

(@) Tepifers 3R Af feg =)
(M fafdn 1t % wow)

(%) e TerFor g

(F) =t wfm o

(F) ¥ yrEdt ateew)

(®) FAR T4 Az

(%) Ff g

UNIT-I ( &TE-1 )

Discuss the properties of Ordinary Least Square (OLS)
Estimates.

.gﬁﬁ%ﬁmﬂﬂ.ﬂ&nﬁ%ﬁﬂ@mﬂﬁ_

What do vou understand by Goodness of fit of a model.
Derive measure of goodness of fit (R,

iﬁd%uﬂd%ﬂwﬂ@%ﬂqﬂﬁww
T &% 72 ®?) F fr o wm e

UNIT-II ( 3&vd-11 )

Discuss the causes and consequences of Autocorrelation and
explain Durbin Watson 'd' statistic method for detecting
autocorrelation.

6354-S/150/KD/1006° 2

F FRON SR wform W e st
F W F A ef amm o ofw
9T F =R T

Examine the identification of the following model :
Vi =5y, —8x; + u
Yo = 2y3 =3x; + Uy

Vi = u..j - wwu =Xy ~X3 + Uy,

frefafes wee & w=m = RER T

Y =5, - 8x; + U,

2

V3 =5y, - 3y, - Xy =Xy + Uy,

UNIT-I ( $%18-111 )

Discuss Granger's Causality test. What are its limitations?
%%%ﬂm&wﬂﬂﬂ%ﬂ._ﬁﬂﬁ%ﬂmww

Describe the procedure of Logit and Probit Model of
Estimation of Regression Models with dependent dummy
variable.

%ﬁw@ﬁﬂ%ﬁmnﬁﬂﬂﬂﬂ%%ﬂ%
gﬁﬂﬂ&ﬂﬁnﬁﬂﬂ&iﬂﬂ@ﬂ_

6354-8/150/KD/1006 3 [P.T.O.
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CMDQ/D-17 7440

INTERNATIONAL TRADE AND FINANCE-I
Paper-306

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. selecting one question from
each unit. Question No. | is compulsory. All questions
carry equal marks.

T : TEF FE Y TEH Y F 999 FW T, FA U
T # I AfTw we gen 1 s #)1 wsh e
# ¥ oA B

Compulsory Question ( atfard wyw)

1. Answer all parts briefly :
(a) What do you mean by opportunity cost ?
(b) Define Factor intensity.
(c) Write two objectives of trade liberalization.
(d) What do you understand by incomplete specialization ?
(e) State Stolper-Samuelson Theorem.
(f) Define terms of trade.
(g) Draw and define Offer curve.

(h) What leads to factor price equalization ?
Tt wm ¥ Sfaw W dfeg

(F) F®R oE G o ;o 37
(@) ®& TETa 1 R FifEw)

7440/600/KD/365/Trans. [P.T.O.



() =R I[EFT F 37 3299 fafam)

(M) et favresrn | o wm e R

(¥) RUer-dqeeras 91 ¥ fafey)

(F) =R F v F Iewfim Fifww

() g=mE FF T FEw Fon uftarfya wifm
(W) $RF T FOAFT FEH IR G L7

UNIT-I (3%3-1)

How Comparative Advantage Theory is an improvement over
Absolute Advantage Theory ?

s e g fFR 7w 9t Ay fagm ¥
guR F7

Critically comment on the empirical testing of Heckscher-
Ohlin theorem.

TRA- TR WHY W eIl whem W e fre
Fifaw)

UNIT-II ( 3ehtE-11 )

Elaborate Rybeznski theorem when there is :
(a) Increase in labour.

(b) Increase in capital.

SR T F SR ﬁ.ﬂmﬂ Tt
(%) 9 ¥ 3ga &

(@) g5t o 977 @

7440/600/KD/365 2

5. Explain Kravis and Linder Theory of International trade.
FIUEE YR F FE9 qu1 ffer & fogim #1 guwRn
UNIT-III ( 3mE-111 )
6. How the gains from trade can be measured ? How these
gains are disributed ?
SR FW AN W RW WA W OGEA E? T e F
7. What are the economic effects of interventions ?
TS F AT YW o OER 37
UNIT-1V (TFE-IV)
8. Compare and contrast import substitution and export
promotion.
wEmE wiarerdd qen frafa wads | qee qan 9 s
9.  Critically elaborate liberalization experience of developing
countries like India.
A S8 fwweia i @ sEdeRw ® swe
TR e I
7440/600/KD/365 3
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Time : Three Hours]

Total Pages : 2

7441

CMDQ/D-17

ECONOMICS OF ENVIRONMENT & SOCIAL SECTOR-I

Paper : 307

[Maximum Marks : 80

Note :  Attempt five questions in all, selecting one question from

each unit. Q. No. 1 is compulsory.

Compulsory Question

Explain the followings :

(a) Fundamental theorem of welfare economics.
(b) Assymmetric Information.

(¢) Legal Efficiency Principle.

(d) Unit cost as a measure of scarcit.

(e) Performance Bond System.

(f)  Quantity Rationing.

(g) Coase-Becker Theorem.

(h) Health production function. (8x2=16)

UNIT-1

Derive the Pareto optimality conditions with presence of
externalities. 16

7441/750/KD/1787 [P.T.O.

Discuss the market failure in case of public goods and the

methods to correct it. 16
UNIT-II
4. Discuss the theoretical influences on evolution of
environmental policy. 16
5. Show that the wealth from natural resources can be maximised
by choosing optimal harvesting rates and competitive prices.
16
UNIT-III
6. Show that the marketable pollution permits can change the
behaviour of polluting industry. 16
7. Discuss the steps involved in estimation of marginal cost of
pollution abatement for designing a pollution tax. 16
UNIT-IV
8. Show that the collective action can be used to break the nexus
between polluting firms and corrupt officials. 16
9. Discuss the indirect methods of environmental valuation
briefly. 16
7441/750/'KD/1787 2



9.

Write a detailed note on the FDI and its importance in India.
TFELME (FDI) 91 9Rd ¥ 399 Wew W U fa&a
wg i)

7442/650/KD/366 4

Roll No. i Total Pages : 4
CMDQ/D-17 7442
INDIAN ECONOMIC POLICY-I
Paper-308
Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 is
compulsory. Attempt the remaining four questions by
selecting one question each from all the four Units (I-IV)
All questions carry equal marks.

W : FW ot TA % IW AW g gem 1 afEd R
IR RS (FIV)H ¥ 79F ¥ UH T H IW A
L, 9 OR W ® I A g o ® o
M

Compulsory Question ( 3Afam wvv)

1. Attempt all the parts :
(a) Name three features of under-development.
(b) Define a Mixed economy.
(c) Differentiate between Mahalwari and Ryotwari System.
(d) Define Sustainability.
(e) What do you mean by Federalism?
(f) Name the three types of policies to govern an economy.
(g) What do you mean by Foreign Exchange Reserves?
(h) What does the FEMA stand for?

7442/650/KD/366/Trans. [P.T.O.



gf g F IW T

(F) seu-fammosiea t fFef @9 foomaet & 9m
FATET

(w) ww fafyg ﬁ&ﬂmﬂa%%ﬂ@m_

() HEEETe T UAfEETd ® A9 W TR Sl

(9) feeran =t uftarfem i

(T) 9% ¥ ouE @ AfHgE @2

(F) & Fimaen w1 | @ 1 @ ovER #
Hfrwt & ™ ARy

(®) et g Wew ® wm = oaed ¥

(¥) BH1 (FEMA) &1 &1 31ef 27

UNIT-I (g&tE-1)

Elucidate the current features of Indian economy with
illustrations.

R seferaeen #1 OnE favivaet w1 sl wfew
e IS

Write a detailed note on the problem of Urbanisation in India
along with its solution.

IRE H YRR FH OGH T TS TEHH W TH
fom =@ fafew

7442/650/KD/366 2

UNIT-II ( 3&t$-11)

What do you mean by Land Reforms? Why land reforms
did not succeed in India.

qft Uil ¥ oo F A 87 9RE ¥ O gum &
qHe 8 T

Elucidate the policies adopted by the Indian Government
for sustainable agriculture.

Yd WER gN a9 FY & fou orwd W Afwd =
e Fifegl

UNIT-III ( 3ehT3-111 )

Discuss the Fiscal-federalism in the context of Indian
economy.

aRAg sdwExen ® e # oy wwaw # ow=l
S|

Describe the magnitude of parallel economy and its solution
in India.

THMRR rdsmaten & TRA qe0 9RT § I9F THUE H
o HIfeQ

UNIT-1V (¥&TE-1V )

Evaluate the structure and direction of Foreign Trade in India.

9 # fRw =R #t wEw aw fTRwm s g
FIfeQ)

7442/650/KD/366 3 + [P.T.O.



UNIT-IV (3&E-1V)

8. Differentiate between Harrod’s concept of Neutral and
Non-neutral technical progress.

e # 7exy oiv ey aFAE TR W ouwomet @
= R T

9. Highlight the role of Human capital in promoting Economic
growth.

afds faFm # TR ® T gt FosffaeE F IR
Eaie

7443/650/KD/367 4
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CMDQ/D-17 7443
ECONOMICS OF GROWTH AND DEVELOPMENT-I
Paper : P-309

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Q. No. 1 is compulsory.
Attempt the remaining four questions selecting one
question from each units. Each question carries 16 marks.

Fe ;. FW Ul T B I A TR gew 1 tEd ¥
TEF THE Y TH T H SW [ T, IR T T
F W A T&F A 16 3% w1 B

Compulsory Question ( fard wew)

1. Answer the following in brief (20-25 words each) :

(a) State any two structural diversities among developing
countries.

(b) What do you mean by Sustainable development ?
(¢) Draw a diagram to illustrate Ricardo’s Stationary state.
(d) What is ‘take-off’ according to Rostow ?

(e) State the two most important assumptions of Harrod-
Domar model.

() Give the formula of steady state growth under
expanding population as given by Kaldor.

7443/650/KD/367/Trans. [P.T.O.



(g) Differentiate between Exogenous and Endogenous
growth.

(h) What is meant by Growth accounting ? (2x8=16)

mﬂ.ﬂw@miﬂnﬁﬂ_mﬂaﬁg-a«ﬂﬁﬁ

F i .

(F) fwmefer 3ot @ 9= # 5 @ BESEI:ED
fafquamet =t samu

(@) 7@ fawmm & smow =0 aed &)

A:vmﬁ%ﬂﬁmg%mﬂ%gﬂa
dif

(F) T F SR BH-51F" (take-off) T £

(%) HWe-¥m Wew & N e mewgd wwomt
E ey

Amvﬂﬂﬁﬂaﬂnﬁmﬁaﬁgﬂg%ag
e g #1 g3 =y

A@vqu%msﬁﬂaﬁaﬂﬂmﬂﬂmﬂﬁ_

(%) faw @ & sy w0 ad 3

UNIT-I ( ¥&mé-1 )

What are the common characteristics of today’s developing
countries ?

vﬂaﬁwﬁﬂﬁmd&ﬂﬁgﬂ%ﬁqu

7443/650/KD/367 2

Discuss the various concepts used for the measurement oi
Poverty.

fem #t w9 % f wgw AR swonsl B we
FifST

UNIT-1I ( 3%T¥-11 )

What are the reasons of downfall of Capitalism according to
Karl Marx ?

Fet TR F SR, YR ® B s ww

Explain the Schumpeterian theory of Economic
development.

d&ﬁamﬂﬂmﬁﬁﬁaﬂdﬁdﬁﬁ_

UNIT-HI ( ¥&T3-111 )

Critically examine Harrod’s model of Economic growth. How
is it different from Domar’s model ?

%«ﬂﬁaﬂﬂﬂaﬁﬂmﬁﬁﬁﬂﬂﬂﬂﬂ
FMC 7T SR & ofeat ¥ frg wER o

Discuss Joan Robinson’s model of Economic growth. Does
the model ensure steady state of economic growth ?

%dﬂﬂx%%ﬁﬂﬁawﬂﬂﬂﬂ%_
ﬁﬁnﬁmg@ﬂwﬂaﬂwﬁﬁﬁsﬁm@mﬂ
F@ #?

7443/650/KD/367 3 [P.T.O.
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CMDQ/D-17 7444
ECONOMETRICS-I
Paper-310
Opt. (i)
Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 is
compulsory. Select one question from each unit.

e : FW glw T F S Y W wem 1 afEd R
TIF TFE 4 UH WA # S| A

Compulsory Question ( ATl W9)

1. Explain briefly :
(a) Meaning of Econometrics.
(b) Log Log (Double log) functions.
(c) Variance Covariance Matrix of Random term.
(d) Standard error.
(e) Positive and Negative Autocorrelation.
(f) Generalised Least Square.
(g) Structural form of a Model.
(h) Simultaneous Equation bias. (2x8=16)
e o gHEmRET
(%) sreifafa 1 ered
(@) & @t (Jew i) weE

() IE|/A W F T TETEOT SR

7444/350/KD/368/Trans. [P.T.O.



(9) 9= Ffl
(T) ARFF A HOTHE  S-TEdey|

(9) i ETEH o

(B) TF Hied FH FEAHE T4
(}) FUE wHEwwE Sk

UNIT-I (TTE-1)

Explain in detail the scope and methodology of
Econometrics. 16

wdifafy # &% qu frafafy = faewgEs wwEE

Derive OLS estimates for a simple Linear regression model.
16

™ T ey Aed § fay suawE. (OLS)
el & afa HINT

UNIT-II (3eE-11)

What do you understand by Maximum likelihood estimates ?
Derive Maximum likelihood estimates for a simple Linear
regression model. 16
SfuFan GOET STREH § oMY ¥ WHE 82 TH
T e s uiew @ fo st ST Sher

i wEfe wf

Discuss at least rwo tests and testing procedure for the
significance of parameters in Multiple Regression Analysis.
16

7444/350/KD/368 2

Tg YRR favem ® Ufmm F owmewa ® whem w
frm-fafy den Fn-8-F9 q e == wf

UNIT-III ( $m8-111 )

Give an account of the consequences and remedial steps for
problem of Multicollinearity. 16

ST F THE F UROTE qen WHYE F TN
= ffsu

Discuss Durbin Walson ‘d’ statistics for detecting
autocorrelation. 16

w-gEEay # SR ® fau efdR aween 'S difers
H =G HifAQ

UNIT-IV (Z&E-1V)

What are Specification errors ? Discuss various tests for
different types of specification errors. 16

fafrdy et #=n & fafue wER @ fafda R @
fau faf= el 1 == HiT

Discuss Rank and order conditions for identification with
the help of an example. 16

T T W WEE gN WEEH & faw gt oR wife
F g W F= S

7444/350/KD/368 3
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JUus-&F (4x12=48)

e : fReEr fF= 9R g ® s AN
1. @A foam = w=wy 3 et #1 ufey s

e
gy faae + otegas w1 fewmed #) == s

2. @ F FAUN FAW FTW IR AR o F FEw ww
Fife

Al

g F faf= fagAi 3 fro wer wRwfm fem 22
Crfarfaurag’ w1 gHien Fifwa

3, dfret 5= #t gem afeal &1 oftem e 3 3t
favamd o =@

SEEI

&= - § wEEH R sfEfd # dREem W
Hifeuy
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4, TN, TI9 dR TUE 9w % ¥9 § & @ At

mo

o.

JfFrsi | T S
e

TYi oTETE | FN oy ¥ Wi oA # WA W
pPeaniciicid

gus-g (5%4=20)

f=t gt gl WA B W T 250 v §
(F) 99 TR W FE SHAu)

(@) am fagm = iy s

(M) @1 T Fw uafEa e

(%) Ty Y9 ® 7EE W TEE S
(T) TEA TEA F GEED T FHIU
(F) FAFdm F GRE =g ffm

(9) ¥t wepa F1 fad aa

(F) |E 3T | TR S

(@) T& v ¥ Fn g #2

(31) 9-foremr $ SEE W YR A

QU1 (1x12=12)

frafafas vt wo ® W G

(F) ‘g w=q' e g &1 e ¥
(@) TETER R w1 Say frg aw | #2

6031-8/650/KD/1721 2

() TEE w1 fawm omyw # fFw w9 ¥ g

() fo=ft s = fafy wE-w 27

(F) TS T F TERM § ol # fefd e 22

() = AR # T § FR-F et i e ¥ =@
TN IEY?

(B) ‘arEm sy’ v § fEa wfw 2

() ' SffEaraTaR’ § Yodw w87

(W) ‘ s TR favwm g R fag w1 afm
#7

(%) ‘afE’ w1 wiEE oY Y

(z) ‘¥ ST R ww 9 e ma R

(3) 3 @ Tom faen ) @ W W T, T ¥ @i
FH-T ITEE €2

6031-S/650/KD/1721 3
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Total Pages : 2
6032-S

MDE/D-17
- T afem w1 foem

Paper-11

[Maxtmum Murks 80

frafafea Ae=Ters v % W feafen
(%) et afecfeers % e = wwen fafan
YT
TE FEA F TEH AW FeE W W =i
(@) 99 FAEIW F WA SF vt e

ELE

SfFEE F AN N %wEN FE aw I A
(M) OfgFfaa = d=EE W OAEw e

)]
fifqas #158 #1 W A7 W w1 fEEe wif
(%) UL F90 % FA 97w F 9=y At
HYS
(Ax12=4%)

el ufer o WeRl S OGEINM 250250 I H
fafau .

(%) fag Tfe

(®) foemafa =1 =&

6032-S/750/KD/1722 P T.0

3.

(M) THFE H T

(%) afseria T afEdl

(T) FoHE F gl

(=) Ofafag wmeum

(3) dfqrem sl

(I) YR H FHA|

(7)) yfaar 1|

(9) fEvFER sEd e I (5%x4=20)

frfafen awf v & I fafag:
(%) fe afecifere & wom sfoe@ &1 ™
(@) ‘geaist’ T & @ =AM

(M fFd ww S P = W

(%) * drreafeee’ fFEEl T R7

(T) sIaE w1 qu W fafaw

(9) sm H fFe wfa 97

(®) fagey e Wi 92

(%) g FEAuT $ 99E FfE F AW
(F) 1 F T TN F A

() ¥ ¥R v w1 om fafEw

(2) & U & guRE F AW

(3) e w1 @ AW fafaw (12x1=12)
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Az ;. w TR atEE ¥

1. %%%%ﬁﬁ%ﬁ@%"

Aﬂviﬁﬁgﬂﬁi%iﬁﬂﬂ
e AR ® frfm T ¥ e wta s
@jﬂmﬂﬁ%ﬂ%w.ﬂﬂm
ot YR &, IER G oW QIR AN A
o T 23 Y R w4 ¥ g W O ¥ T A
%i%@&mﬁ%%ﬂw@ﬁmﬂ
sq W g a T R TR WY I S
& 3z T B gFd, IR @ oW 9w R F faw
&aﬂm@ﬂﬂ.ﬂ%ﬂmmmﬂ%mﬂi%
fremm % 9 o S e I e HOUE
ﬁmﬂdﬁ_ﬂﬁ%ﬁﬂm@gﬂa
%ﬂﬁ.ﬁﬂﬁmﬂmﬁﬂmﬂa%
ﬁ%ﬁ&@%ﬁiﬂ%ﬂmﬁﬂ_

T
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el § wHEER oK TW EW W o @R B fag
WHFH T A PR @ Wi wUS A A
W % faw AR # oA e wWoER a =SR2
RS fuspad dsiaRmwa aa @
2l 9% 9R W TEU 9R) ¥ SR fFw o oEE #h
fFarg 7 1 W T & oE® w1 @AW o 9%
& AR-9R BW-8R TE UG o § fEet of
TG H ewT aaF 7 ® T g /7 om ow
A O A S0 @S | e T

(@ g # FEA sEer B oo 9w we

T R frerfem ® =1 W o TAW wAER
IER FT Yoo TS @A TEd o, I H FIEA
W IWF R srEeltad o oiR 3 F gE-I@,
H IRV A1l ITH e FAR @R STl o
IS o FOE ol dew SuE wm w srfuwd A
¥ IR 9€ T{HA I IR B TE EEa o1 FR
UET F AT AW MR dR-me W g #
fou, sow WA-#TF, T A T W gERR W
TS SYAN IHS FEGEY 1 TR WhEi ol 9%
ft o #, sEw f T ? o sEd o smwiamd
- qE T F TN B AR F AT o
e

6033-S/700/KD/1723 2

(M

T&F W H O I9 W & WE B TI W
oYl w9 %1 S wife fym ga w9 @ oRg
T Y W § 3G9 I9F VA IW EHE R
e 1 THEET ¥ S W W @ e 2
T R 9 S, ®Y @ SEw, A fE
TR 1 foa | Afaw @@ g T SR qEes
TS, SIEA SR wfem WA §; 3W WY IEe
F03 ¥ W @l feed € 98 S W @ g I
JO IqA, A4, J9 A FEOMGO, TR, q faFa-
WR-GgE T 8

o dEe uRg ¥ W, W S0 # ot WA
R fruE 3 % wd, R ® A A aFE Se
I TEN O TXF WA, IS qE AN W A IH
1 ot g W A, 3§ oandt 7 W Swm

Fer
T o e w1 Tw 2 S wedt ® fF H A&
Td—T% T H o T, W H oAt
F@ B yvEd T WOlEY W EY TR SH F
¥ @R foen #X FMeE A & R ToRAR @
FH-Tgh | 79 Ged ® T T T, ol
% q@ § oo IR @ed w1 e wee w5 8
(3x7=21)

) ‘TeR' W FFER-SER W TEES B T OHE W

feoo wife)

AU
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e H -S| FEW e 12

. ‘T e SeE W U SR W BN A T

Y afEd & v W yem s
e

T AR TN ® oS- W v i
12

. ' F el ® eR W gdwia e fren

fF W THE T 12
P

‘19 % el F R W el Tw ® wfee W
g | fafan)

. f&E ufw w foufel fafaw s@s feoft e 250
W= g |

(¥) Tgd WiFea w1 fordt v #wfa #1 9f=w

(@) oy Efwss @1 afsfas afeal

(M) e R T Fh oW g waE

() d=7 = ‘3U' F ofefew e

() sgmard TR # fE uw P w g g

(¥) A Sgaal %1 WifEfEE qeE|

6033-S/700/KD/1723 4

6.

(®) =g+ Tfefs 9f=g)

(W) s/ w1 ot e wfa #1 wfeEm)

(9) T R w1 wifEfEE arRm|

() 7 d=/ w1 wfefas i (5x3=15)

Tt g ® S e .

(F) 'TMEA’ ®a YHiya g3n on?

(@) ‘wfam 70 ¢ fey F w=faw w1 AW faa

(M fmfem fag 3 9y =1 ™ fa@

(9) IRE-9F fasem W wg@Es § $H-9 wEe 22

(F) TR I F FEY FFE Fert ¥ 22

(M) ‘MR’ H fra-mfas w1 9 T w1 o om0

(®) WmEg #1 ‘Ofe &1 eyg fEy’ fF9 oW W
fer mn s @2

() I eF F [ A0 T w A e
(8x1=8)
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(B) EEWRE T=91 F1 FeAT AR

(3) waraR fag #t FeeE’ @

(%) sErafde S Bl @1 wE-uiEal

(%) iemRAR "R #:1 eF FHea=| (5x3=15)

frafafan agfs o & s dfee :

(F) 'FHE B FUET H MUR w22

(@) et Wt § TI-TuR R we W ®?

() TEW ® AW ¥ FHE-T g faemm 7

() ‘ST FEEA W A 0

() ‘fren’ F TEe W wE-E 2

(B) ‘TR’ FH R WA I 2

(®) gfmay # q w A & Tw fafau

(F) ‘srq wfT 99 @ 2 Ffaa B WIER SF R?
(8x1=8)
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A : fEugEr osft g % I PR

1. Trefafas woren =) 9wan e s :

(F) 98 AT NE-sH9I-T 3 °fmE # A,
YR F AR IWI-W A 9@ ¥ |
W T o597 o0 3 T W AN S,
FA FO@ ol e faoea Foagw F @@ T
foral o ® w4 @ TR T T,
AT TS A SaEen ¥ R 3 W@ A T, M

e
fpg e frem feum ) fomn # 3w, 78 wew,
fren ® fage oo, wem #1 98 Few TE
FE AFRSH 4 EE R, T T g IR
W ¥ e w1 e, Saw W w e vy
qq TE FIa g TG Fo0 I8 fF e,
T AFE § T W-N W AW F AR

(@) AR I <A THE TaSA Yo TEH,
fdy TEeT® ¥ AR-IR TN fawa
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IR et fa=, o@ = ofa == fag

¥ W R = ik wifm @ = fafir,

wiftm & @, I @ 9RE s ue

T fomn v W amR-dR gwe;

TATE A FEA W A =1,

Y ¥ O}, wfem wW QUi o

€ W g B favdw wier @ a@«

T IS W, TS W, 5w W A

I W g wEd W ATRER

THFS R AR S @ FE R

ua

W IR U FIT R 7 @ W 3@ H @ =,

N feq v T =w; 9% @ 9l w5, s wen

q faht w7 ¥ fecht, oo, o © s W & ww

# R T W W W arEER W g w=a

1 99 IR 9 @ fawer, @ €@ Shed 1 wa @

M FE AN, W A FE, @ o W e

IR ¥l ® @ W WY, W U W, W FE G

T U< WA F-¥ WA, FA, Ta FH F e
() FFH IR F TR FE GeH, 90 KA g1, 79

THE TAER A - gen I SRR

FIA-FTEA TAFA S F1 ol TR Frwa o, v

¥4 vt vav|, w9 o famwal § ot w A gl

T A §| FA-FR WEAR TA P @A A
T A H TG W AR, I @@ R 7 W
¥ o ¢ R § e w R aw

6034-S/650/KD/1724 2

u.

CoC]

fafer srpwa foremn & S Y it 1 OR o W § o,
3o € § O e € oen, e W ¥ W, WF W
dR TS W T ol o W Wy F emvEd) sy
it 1 Hqfegal Wit ) SRR Wty @ e W R
- g8 A W F fasiv-ufet | fae 3,
W& s © F o, ] R A IR |
wiears | fRg § erhem dfgw el ¥ o ¥ wem
(7x3=21)

(%) = 99 & -39 w1 fad=m Fifw overan
Y9 1 Feniea &1 fagmmeEesT #f

(@) it #19 # Far swe w1 fHeasss #ifw
A TR T R+ w1 ) w5
T T - T wem F faE= Ffw

(M) T Wuffm ® Wy T W Fw T IqEO
Tfea fadem R sraar omg & w1 % sfiesgssm
Ty w faa=m = (3x12=36)

ﬂﬂ@m@m%i&bi&ﬂ%mﬂ%
(F) Hedt aut #1 FEw favivard

(@) FIEY ET FT HEA TR B AR’
() T WEw@ F wEg v

(F) IR Wt # i

(¥) TER g™ Ft qmifes da

(%) TR T F FA-TE T Fo wwrd

6034-S/650/KD/1724 3 [P.T.O.



() ‘TEEE’ E A9 SE-HR?

(F) TEREA F AF F I T@FT FH G 9 T
(F) v = % Afysafa g w1 99 favvam)

(F) AR F FA FT WGE e

(B) FAR F THFA TN FH 972

() FA7 & THYIER W Faw gum afus fard @
77 (8x1=8)
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: J/f gt F I 2

1. TRvmEr feafafas weaen 1 qysn sen Fif .
(%) foge w9e1 fFam Ffad-gfem £33 78 I

9 79 W fAER TEE W g "1y "

T8 FfFA FF T TEGFE ™ faq s owE)

TEE FEA G TEETS TS WA

faem 73 @ of ffs fafs 9 F9-T@ @em)
ERC

ofg ¥ #ag 7 3@ A9E| F9 TR G- AE T

wafy R 9« o) WvE w dify v wE)

WAt wIu fo Tem wF I 9 WA ] aeerE

3 wfafs wfe 9em gz 9w ofa FEA|

F T Hroa =en fyen fagerm sve S afew

fgafa fefzy va W= 993 faemefs g9 = SeEfa

(@) W 9 R A 9/ F o W S

Hfew g3 9 emd @ 99 A 4 9 & =
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(M)

w s@fa ™ T wEn A9 v 5 e wE
T A9 = M awEn faw Fe 3E Se e
g T FER-FFR 4R g W gaE Jf@ w0
T o G wE gl e s s #
uft g8 W 9@ el g o 7 e el
e

at Tm wfew, & & Sfe gl & @i w9
F B N e women w1 fAve wgEE =@
el @ ®7 Tu g S € AT 9 gd feEnd
A faft g, o g § 4 9w, 7 e g
FO S Fe oM @ 01 dER TS, s 9 =8
e & TF doa § "Wem ewE 7 Fgu 3fem B
fie TeT, @ F fEA weA SR @ e

ot ety ® o q1 = fRA faa wR s e

#R T g 9 gwfa vem @ werEe gen)

TH-RfE Bz | afa s fRy, wfa w5 afs e

wm ger fa gee, w49 faer s e faen

7er

= gfy & guE W e, g w5 waaE feae)

e TEee- e w0 T @ el

Ty a7 9 @ feq @y guit & qefe T

= @ gom i} wmemwr @-frg A Gfa-fem
(3x7=21)

6309-S/750/KD/1938 2

2,

3.

(%) FAR F afE-TEm w1 faEE SN atgar FAR
AR g ® THH RN T FHIfA
A@vmﬁd%ﬁﬂﬁ%ﬂ[&m@»@m%g
qEE F MaeEwa 1 e
() FfAET F1 FTA-9red 3qEn 9fea fofgn sreen
THEfETER ¥ Fea-Aed F faees Ffe
(12x3=306)

freAfafes o wo B @ R ule @ I 250 v
¥ fafax .

(F) TN GEUR H TUH 9 FE AN FFEA E?

(@) Ty F TE 9% Fa0 gC ARETY F 0 Ffo)
(M) 3t gE F FA ¥ Awad|

(%) EmfaR oz ® T=ca

(F) HrEE FFwr-9iE)

(F) U F SR A

(B) TRTW & FA H TH

(F) FyEEE TR’ § gER g
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